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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.00 ] 0.00 ~ 4.44 55.35 | ThUS | 000 ~ 444 1.94 9.52 znLst 1.00 | 5.00 ~ 5.00 55.35 | =LA | 5,00 ~ 500 1.94 9.852
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 4.99 62.14 | TN | 000 ~ 499 1.95 9.85 ZznLst 1.00 | 5.00 ~ 5.80 6214 | =hSt | .00 ~ 5.80 | 1.95 9.85
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLs 1.00 1 0.00 ~ b5.556 69.34 | TN | 000 ~ 555)1.95 9.86 znLst 1.00 | 6.00 ~ 6.70 69.34 | =hS | 6,00 ~ 6.70 | 1.95 9.86
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8 %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ b6.45 68.07 | =LY | 000 ~ 545) 1.96 9.92 znLst 1.00 | 5.00 ~ 6.60 68.07 | #hSt | .00 ~ 6.60 | 1.96 9.92
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 1 0.00 ~ 5.99 75.09 | =St | 000 ~ 000 1.57 7.93 ZznLst 1.00 | 5.00 ~ 7.50 76.09 | EnRS | 5,00 ~ 750 | 1.57 7.93
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 0.00 ~ 6.09 76.31 | =LY | 000 ~ 0.00] 1.60 811 ZznLs 1.00 | 5.00 ~ 7.40 76.31 | EnRS | 65,00 ~ 7.40 | 1.60 811
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 5679 72.89 | #nLSY | 000 ~ 579)1.95 9.586 ZznLst 1.00 | 6.00 ~ 7.10 72.39 | #nRS | 6,00 ~ 710|195 9.86
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 000 ~ 6.11 76.64 | =nLSY | 000 ~ 611]1.85 9.36 ZznLst 1.00 | 6.00 ~ 7.20 76.64 | TnRS | 5,00 ~ 720|185 9.36
9 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 0.00 ~ 6.06 75.92 | #nLSY | 000 ~ 6.06) 1.85 9.35 znLst 1.00 | 6.00 ~ 7.10 76.92 | #nRSY | 6,00 ~ 710|185 9.35
10 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mM%Z#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLs 1.00 1 0.00 ~ 5.38 67.16 | =St | 000 ~ 538]1.92 973 ZznLst 1.00 | 5.00 ~ 6.30 67.16 | =hSt | .00 ~ 630|192 973
17 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8 %% — - ~ — —|3mZE#BZ % - ~ — — —
ZznLst 1.00 1 000 ~ 423 52.91 | £hst | 0oo ~ 423|201 10.15 ZznLst 1.00 | 5.00 ~ 5.00 52.91 | =0 | 5,00 ~ 5.00)| 201 10.15
100kN/M%Z#B % % ~ IMEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZhLst ~ Zhst ~ ZhLlst ~
100kN/M%Z#B % % ~ IMERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZhLlst ~ Zhst ~ ZhLst ~
100kN/M%Z#B % % ~ IMERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZhnLst ~
100kN/M%Z#B % % ~ IMERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhLst ~ Zzhn st ~ zhLst ~ zhn st ~
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